Name

ROIINO. & e

Tl W Y HEA : 26 ) [ $ Hfxa gt i 6@ : 8
Total No. of Questions : 26 ] [ Total No. of Printed Pages : 8

T-222202-B
faue : -
Subject : Chemistry

Ry : 3 9Ue ] [ qurfe : 70
Time : 3 hours ] [ Maximum Marks : 70

fader : () Wity arfrEdd §)
All questions are compulsory.
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Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in / word or /

Instructions :

sentence.
(jii) W FF 6 ¥ 10 T FoAH WA W 2 3feh yreifed € 1 (I=-WA1 30 9)
Question Nos. 6 to 10 carry 2 marks each, (Word-limit 30 words)
(iv) WO EIE 11 § 22 7% T T W 3 37 reifed € | (I=-Hi 50 vIss)
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
(v) W HHi® 23 W 4 3iF wifed ¥ | (w3-€ 70 )
Question No. 23 carries 4 marks. (Word-limit 70 words)
(vi) 9 FHE 24 § 26 OF TAF UM W 5 HF AW(A T (UK-H

100 9155 )
Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
(vii) &1 arva ), 81 @9 3 Hifhd fo s

" Draw clean and labelled diagram wherever necessary.
' P.T.O.
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What is called Desorption?

ﬁmaﬁaﬁmqpﬁf’rﬁm

Cu
573K

CH,CH,0H

Complete the following reaction :

Cu
CH,;CH,0OH 53K

CH3CHO 1 J[UPAC 714 F1 & ?
What is the [IUPAC name of CH;CHO?

BHRYEIES 1 TF IS S

Give one example of monosaccharide.

frefafEs Sl s e s wa Fn A fafee..
CgHsNH,, CoHsNH,, (C.2H_5‘)_21§IH, NH;,
Whrite the following in decreasing order of basic strength :

C¢HsNH,, C,HsNH,, (C,Hs),NH, NH,

2.82 T T (SfTE FEEE = 180) 30 UM 9@ A genm ¥ 39
faeram =1 Hieerdl 91 I |
2.82 gm of glucose (molecular weight = 180) is dissolved in 30 gm

of water. Calculate molality of the solution.

| TMArER, T8 9 ¥ vEEA & fa N, annoza:mnthewOZ
& fogor &1 IyEM F@ € 1T ?

Sea divers in deep ocean use the mixture of He and O, instead of -

mﬁﬁaﬁaﬁﬁﬂ%mﬁaﬁﬁﬁﬂ%lﬂ?

Aniline is insoluble in water but soluble in HCl. Why?
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What is pseudo-unimolecular reaction? Explain with one example.

WYT-10  EIEET simmaree sifufran @ wHih wied weant |

Explain Hoffmann bromamide reaction with equation.

W9i-11 RNA 3R DNA ¥ @9 i@ fafaw |
Write three differences between RNA and DNA.

WHA-12 379 Yod Sifadiere § | TR gHisio g T Hifa |

Ozone is a strong oxidizing agent. Explain with chemical equation.

2]

[2]

[3]

[2+1=3]

WyA-13 189 9g & Al % Frefafea ol # s i [1%+1%=3]
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Explain the following properties of elements of 18th Group :
(a) Ionization enthalpy

(b) Electronic configuration

w¥-14 fir=t Hifieel & ITUPAC M fofan [1+1+1=3]

() [Ni(CO)y]
(@) [Pt(NH3)sNO,INO;
() [Ag(NH3),]"
Write the IUPAC names of the following compounds :
(@) [Ni(CO)y4]
(5) [Pt(NH3)sNO,JNO5
(c) [Ag(NH3),]"
UYR-15  FAGAIH § I § 9 T UL © 2 WE &1 Werd AR

What do you mean by elevation in boiling point? Explain with the

help of graph.

[1+2=3]
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Explain the following terms :
(@) Semicarbazone

(b) Acetal

99N hife Bt Afufrar & fag 4 feris w1 =9 = Sia)
Derive an expression of rate constant for first-order reaction.
(37 fevedt yuE

(9) @A

Write short notes on the following :

(a) Tyndall effect

(b) Coagulation

Fea-fpfen sifufnan fed wea & 2 Tt fafian
What is Wurtz-Fittig reaction? Write equation.
frefafaa situfsaneii & 4, B C 9 we=fi .

CH30H PC]S » A KCN ?B Na +C2H50H

»C
Identify A, B and C in the following reactions

PCl
CH;OH 5 . A KCN _}B__Il_a+C2H50H .C

M-35B
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frefafes | RO gdr g 3T FIUER] % Hed gU HH § wared
T
(CH,),CCH,0H, (CH,),CHCH,CH,OH , CH;(CH,);CH,0H
Arrange the following in decreasing order of their boiling points

giving reasons :
(CH,;);CCH,0H, (CH,),CHCH,CH,0OH, CH,(CH,);CH,0H

aﬁﬁaﬁga@%mmﬁw HUR It Uewhigiel i STUa I
REIFY
The boiling points of carboxylic acids are higher than that of alcohols

of the same molecular weight. Why?

=1 =6 9UEmsT
(31 wha I
(@) izt Ffe

Explain the following :
(a) Frenkel defect

(b) Schottky defect

OR
= ) gHEnyY
(37) ofa:Hf=a o
(7) FEH-Hisd T
Explain the following :
(a) Body-centered cubic

(b) Face-centered-cubic

M-35B
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(7) Frfafaad g m%mwﬂmﬁmmm :

(i) e TeRIE] % W AgNO T Tl foerd

(if) e sl % wmy H,S0, a7 T [142+2=5]
(@) What is the Faraday’s first law of electrolysis?
(b) Predict the products of electrolysis in each of the following :

() Anaqueous solution of AgNO5 with silver electrodes

(ii) A dilute solution of H,SO, with platinum electrodes

regar

OR

for-vaTaTE Aot Tt & 2 Frertw w1 Fraw e gu T9F & swaErT
fafaw)
What is Electrochemical Series? Write Kohlrausch law with its two

applications. https://www.cgboardonline.com

ag-25  (37) T o R we § 2 o W seieRi e farae

(7) Cu' ¥R Cut? ¥ it fomme foran gy e fo 3 3 @
P SHfu STTEHA § | [2+3=5]
(@) What are Transition Elements? Write their general electronic
configuration.
(b) With the help of electronic configurations of Cu® and Cut?

explain which one is more paramagnetic.
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() Fet2aFe™3 ¥ ot faam ferad gq aarse i o 6 @ 3
v AT 21

(@) What are Lanthanides? Why is it difficult to separate them? Explain.

() With the help of electronic configurations of Fe™2 and Fe*>

explain which one is more paramagnetic.

UyA-26 991 €1 €, 99 (Faw vaafis g fafae) 72— [14+1+1+1+1=5]
( 37) FEiTRAEE e #) fra toweia A F1 I €

(%) wEiifesens = sg=aa fs emerm/HCL =1 Svffa d da d
(@) e, B Fige F W CS, #t Iufeafa & frm s

(3) THifew 3t #1 fiFa1 Na urg & &t <t @

(3) WHREH W NaOH iR 1, % foran 3 et 2

What happens when (write only chemical equation)?—

(@) Carboxylic acid reacts with alcohol

(b) The reduction of acetaldehyde occurs in the presence of zinc

amalgam/HCI
(c) Toluene reacts with chromyl chloride in the presence of Cs,
(d) Acetic acid reacts with Na metal

(e) NaOH and I, react with acetone
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(3) TRER-HE fufwan
(3) Wiew-wey Afufma

Explain the following (write only chemical equation) :
(a) Stephen’s reaction

(b) Aldol condensation

(¢) Cannizzaro reaction

(d) Gattermann-Koch reaction

(e) Friedel-Crafts reaction
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